
Page

Model # 238-3-T10 Instruction Sheet

www.belson.com 111

10' Extra Heavy Duty Shelter Table

of7/12/2019

627 Amersale Drive 
Naperville, IL  60563 

Phone: (800) 323-564 
Fax: (630) 897-0573 

sales@belson.com

https://www.belson.com/Classic-Style-Rectangular-Wood-Shelter-Table
https://www.belson.com/Classic-Style-Rectangular-Wood-Shelter-Table
https://www.belson.com


www.belson.com Page 2 of 117/12/2019

● O W N E R S  A N D  IN S TA LLE R S  P LE A S E  N O TE  
TH E S E  S A FE TY  W A R N IN G S  A N D  M A K E  U S E  O F  
TH IS  C H E C K LIS T  O N  A  R E G U LA R  B A S IS .

● FO LLO W  IN S TA LLA T IO N  IN S TR U C TIO N S  W H E N
E R E C TIN G  E Q U IP M E N T.

● G R O U N D  S U R FA C E S  A R O U N D  E Q U IP M E N T
S H O U LD  B E  R E S TO R E D  A S  N E E D E D . C O N C R E TE
FO O TIN G S  S H O U LD  N E V E R  B E  E X P O S E D . 
S U R FA C E  D E P TH  S H O U LD  C O M P LY  W ITH  A S TM  
A N D  C P S C  S P E C IF IC A T IO N S .

● C H E C K  FO R  A N D  R E P A IR  D A M A G E  C A U S E D  B Y
W E A R  O R  V A N D A LIS M , A  M A JO R  FA C TO R  IN  
IN JU R Y  C A U S IN G  S ITU A TIO N S .

● A LL  P R O TR U D IN G  B O LTS  S H O U LD  B E  C O V E R E D
O R  C U T O FF  A N D  F IN IS H E D  S M O O TH . S H A R P
E D G E S  O N  P IP E S  S H O U LD  B E  C A P P E D  O R
R E M O V E D . C H E C K  FO R  B E N T, B R O K E N , O R
S E V E R E LY  W O R N  P IP E , A N D  R E P LA C E .

● A LL  E Q U IP M E N T S H O U LD  B E  FR E E  O F  R U S T 
A N D  R E P A IN TE D  W H E N E V E R  N E C E S S A R Y  TO  
D E TE R  R U S TIN G .

● W E  P R O V ID E  O U R  C U S TO M E R S  W ITH  LA Y O U T
S H E E TS  A N D  IN S TA LLA T IO N  IN S TR U C TIO N S .
P LE A S E  K E E P  O N  F ILE  TH E  S P E C IF IC A T IO N S  
S H E E T TH A T C O N TA IN S  TH E  L IS T IN G  O F  E V E R Y  
P A R T U S E D .

● N E V E R  A D D  C O M P O N E N TS  N O T IN TE N D E D  FO R
U S E  W ITH  TH IS  P R O D U C T.

SAFETY WARNINGS & EQUIPMENT INSPECTION

● R E G U LA R  M A IN TE N A N C E  IS  N E C E S S A R Y  IN  
TH IS  A N D  A LL P A R K  A N D  R E C R E A TIO N A L 
E Q U IP M E N T TO  IN S U R E  TH E  S A FE TY  O F  TH E  
U S E R .

● N O TE : P R O P E R  M A IN TE N A N C E  O F  
E Q U IP M E N T R E Q U IR E S  R E G U LA R  
T IG H TE N IN G  O F  A LL B O LTS , N U TS , A N D  
S E TS C R E W S .

● N O TE : R E G U LA R  C H E C K IN G  O F  A LL P A R TS ,
C A S TIN G S , E TC . S H O U LD  B E  M A D E . IF  A  
P A R T IS  B R O K E N  O R  W O R N , IT  S H O U LD  B E  
R E P LA C E D  IM M E D IA TE LY .

● C H E C K  TO  B E  S U R E  A LL F ITT IN G S  A R E  
T IG H T A N D  TH A T B A R S  A N D  P IP E S  D O  N O T 
M O V E .

● R E P LA C E  A LL W O R N  S -H O O K S . S -H O O K S  
M U S T B E  C O M P LE TE LY  C LO S E D . FA ILU R E  TO  
C LO S E  S -H O O K S  C A N  R E S U LT  IN  S E R IO U S  
IN JU R Y  TO  TH E  U S E R . N E V E R  R E U S E  S -
H O O K S .

● TE S T  FO R  FR E E  M O V E M E N T O F  S W IN G  
H A N G E R  A N D  O TH E R  M O V IN G  A TTA C H E D  
P A R TS .

● C H E C K  FO R  W O R N  C H A IN S  A N D  R E P LA C E  
TH E M .

● A  S O FT  R E S IL IE N T  S U R FA C E  S H O U LD  B E  
P LA C E D  U N D E R  A LL S W IN G S  E X TE N D IN G  A T  
LE A S T TW IC E  TH E  H E IG H T O F  TH E  TO P  R A IL  
B O TH  FR O N T A N D  B A C K .



3/8" x 2-1/4" Carriage Bolt 3/8" x 1-3/4" Carriage Bolt 3/8" x 1-1/4" Carriage Bolt

3/8" Hex Nut3/8" Flat Washer

www.belson.com Page 3 of 117/12/2019

BEFORE ASSEMBLY, PLEASE MAKE SURE ALL FASTENERS ARE INCLUDED.



www.belson.com Page 4 of 117/12/2019

ALSO NEEDED FOR THIS ASSEMBLY WILL BE THE FOLLOWING MATERIALS:

9/16" Wrench

Tape Measure

9/16" Socket Wrench Level



Top & Seats: Pressure Treated : 2" x 10" No. 1 Southern Yellow Pine pressure treated lumber.
     Redwood Stain: 2" x 10" No. 1 Southern Yellow Pine with a redwood stain wood preservative.
     Untreated: 2" x 10" No. 1 Southern Yellow Pine

All tabletop 
and seat mounting brackets shall be precision punched and fabricated from 2" x 2" x 7 gauge formed angle.

Electrostatic powder coated application oven cured or hot dipped galvanized.

Hardware: Hardware shall be hot-dipped galvanized.

www.belson.com Page 5 of 117/12/2019

PRODUCT SPECIFICATIONS

238-3-PT10, T10, U10
EXTRA HEAVY DUTY WOOD SHELTER TABLE

Frame: 2-3/8” O.D. x 12 gauge pre-galvanized structural steel tubing. Cross braces 1" O.D. x 16 gauge pre-
galvanized structural steel tubing. Brace attachment points are 1-1/2”x1-1/2”x3/16” steel angle. 

 
Legs are bent over a mandrel through the bend radius producing a wrinkle free bend. Holes are predrilled in 
legs for optional surface mounting. All electrically MIG welded.

Frame Coating: 

Dimensions: 10’ portable picnic table walk-through design. Top is 28-1/4” wide x 120” long and is 30” high. 
Seats are 9-1/4” wide x 120” long and 18” high. Outside to outside dimension is 65” x 120”.



ITEM NO. PartNo DESCRIPTION Qty.

1
PT120-2x10-T, 

RST120-2x10-T, 
or U120-2x10-T

2 x 10 Pressure Treated Table Plank (10'), 
2 x 10 Redwood Stained Table Plank 

(10'), or 2 x 10 Untreated Table Plank (10')
3

2 XXX120-2x10-S
2 x 10 Pressure 

Treated/Untreated/Redwood Stained Seat 
Plank (10')

2

3 P-W238 or G-
W238 238 wood frame 3

4 01-04-0236 31" Wood Table Brace 1

5 01-04-0165 6' wood table brace (30-1/4") 3

6 01-04-0027 center c channel 2

7 33-06-0016 3/8" x 2-1/4" Carriage Bolt (Zinc) 42

8 33-02-0002 3/8" Zinc Plated Washer 47

9 33-01-0002 3/8" Hex Nut (Zinc) 47

10 33-06-0005 3/8" x 1 3/4" Carriage Bolt (Zinc) 2

11 33-06-0032 3/8" x 1-1/4" Carriage Bolt (Zinc) 3

www.belson.com Page 6 of 117/12/2019

COMPONENTS

7
1

2

3
5

4 6

8

9

11



Attach the 10' Top Planks to the 238 Frames using the specified hardware.

www.belson.com Page 7 of 117/12/2019

STEP 1

7

8 9

3

1



Attach the center channels to the 2 x 10 Top Planks as shown using the specified hardware.   
NOTE: A 3/8"-16 x 1-3/4" Carriage Bolt is placed in the center hole of the Center C Channels. 

Head of Carriage Bolt shall be between top of channels and bottom of 2 x 10 planks. 

www.belson.com Page 8 of 117/12/2019

STEP 2

7

8

910 6

1



Attach the 31" Wood Table Brace and the 30-1/4" Wood Table Braces to 
the Center C Channels and the 238 Frames using the specified hardware.

11

8

95

8 9

455

www.belson.com Page 9 of 117/12/2019

STEP 3



Attach the 10' Seat Planks to the 238 Frames using the specified hardware.

7

8 9

2

3

www.belson.com Page 10 of 117/12/2019

STEP 4



 18" 

 30" 

www.belson.com Page 11 of 117/12/2019

OVERALL DIMENSIONS

 9 1/4"  28 1/4" 

 64 15/16" 

 120" 




